
Vypočítajte integrály metódou per partes:

1.
∫
x cosxdx

[
x sinx+ cosx+ c

]
2.
∫
xarctgxdx

[
x2

2
arctgx− x

2
+ 1

2
arctgx+ c

]
3.
∫
lnxdx

[
x lnx− x+ c

]
4.
∫

arctgxdx
[
xarctgx− 1

2
ln(1 + x2) + c

]
5.
∫
arcsinxdx

[
x arcsinx+

√
1− x2 + c

]
6.
∫
xtg2xdx

[
xtgx− x2

2
+ ln |cosx|+ c

]
7.
∫

x
cos2 x

dx
[
xtgx+ ln |cosx|+ c

]
8.
∫
ln2 xdx

[
x ln2 x− 2x lnx+ 2x+ c

]
9.
∫
(x2 + 3) sin 2xdx

[
− (x2+3)

2
cos 2x+ x

2
sin 2x+ 1

4
cos 2x+ c

]
10.

∫
ln (x+

√
1 + x2)dx

[
x ln (x+

√
1 + x2)−

√
1 + x2 + c

]
11.

∫ (
lnx
x

)2
dx
[
− ln2 x

x
− 2 lnx

x
− 2

x
+ c
]

12.
∫

arcsinx√
1+x

dx
[
2
√
1 + x arcsinx+ 4

√
1− x+ c

]
13.

∫
ex cosxdx

[ ex
2
(sinx+ cosx) + c

]
14.

∫
sin(lnx)dx

[
x
2

(
sin(lnx)− cos(lnx)

)
+ c
]

15.
∫
cos(lnx)dx

[
x
2

(
cos(lnx) + sin(ln x)

)
+ c
]

16.
∫
sin 2x cos 3xdx

[
1
5
(3 sin 2x sin 3x+ 2 cos 2x cos 3x) + c = cosx

2
− cos 5x

10
+ c
]

17.
∫
cosx cos 3xdx

[
1
8
(3 cosx sin 3x− sinx cos 3x) + c = sin 4x

8
+ sin 2x

4
+ c
]

Vypočítajte integrály s využitím substitúcie:

1.
∫

x
1+x4dx

[
1
2
arctg(x2) + c

]
2.
∫

x2

(1−x)100dx
[

1
99(1−x)99 −

1
49(1−x)98 +

1
97(1−x)97 + c

]



3.
∫

1
1+cosx

dx
[
−cotgx+ 1

sinx
+ c
]

4.
∫

1√
1−2x−x2dx

[
arcsin

(
1+x√

2

)
+ c
]

5.
∫

7
2x2+3x+2

dx
[
2
√
7arctg

(
4x+3√

7

)
+ c
]

6.
∫

x
(3+x2)9

dx
[
− 1

16(3+x2)8
+ c
]

7.
∫
sin 4x sin 2xdx

[
sin3 2x

3
+ c = sin 2x

4
− sin 6x

12
+ c
]

8.
∫

1
cosx

dx
[
1
2
ln |1+sinx

1−sinx
|+ c

]


